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نبي  نالعلاقةتمثل(2-28)المعادلة نالغازن)للنظام(H∆)الحراريوالمحتوى(U∆)الداخليةبالطاقةالتغي  Isothermal)الحرارةدرجةوبثبوت(المثال 

process)،الغازنوضغطحجمعنمعلوماتلدينانتكونلنعندمانونالغازيةللحالةتستخدمحيث، المولتندنعدعنمعلوماتلدينانبالمقابلالمثال 

نللغازن .المثال 

∆ngنتمثل نللغازنالمولتنبعددنالتغي  :التاليةقةالعلاوفقونالكيميائيةالمعادلةمنعليهانالحصولويمكنالمثال 

∆𝒏 = ෍𝒏 (𝒑𝒓𝒐𝒅𝒖𝒄𝒕𝒆𝒔) − ෍𝒏 (𝒓𝒆𝒂𝒄𝒕𝒂𝒏𝒕𝒔) (2-29)

نفيكونالصلبةأونللسائلةللموادنالحاصلالحجمتمددنأمان نصغي 
 
V∆)أيأهمالهيمكنبحيثجدا ≈ ن(0 ن(2-27)المعادلةتصبحوبالتال   

كالآت 

∆𝑯 = ∆𝑼 (𝒃𝒆𝒄𝒂𝒖𝒔𝒆 𝒑∆𝑽 = 𝒑 𝒙 𝒛𝒆𝒓𝒐 ≈ 𝒛𝒆𝒓𝒐) (2-30)

∆𝑯 = ∆𝑼 + ∆𝒏𝒈 𝑹𝑻, (𝒑∆𝑽 = ∆𝒏𝑹𝑻 𝑨𝒗𝒐𝒈𝒂𝒅𝒓𝒐′𝒔 𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏) (2-28)



Example: If water vapour is assumed to be an ideal gas, molar enthalpy change for vaporization of 1.0 mole     
of vaporization of water at 1 atm and 100 oC is 41 kJ. Calculate the internal energy, when (a) 1 mole 
of water is vaporized at 1 atm and 100 oC. (b) 1 mole of water is converted into ice.

Solution: n = 1 mol, T = 100 oC + 273 = 373 K, p = 1 atm and ∆Hvap = 41 kJ mol-1

The reaction is 𝑯𝟐𝑶(𝒍) 𝑯𝟐𝑶(𝒈)

(a) ∆𝑯 = ∆𝑼 + ∆𝒏𝒈𝑹𝑻 (2-28)

∆𝑼 = ∆𝑯− ∆𝒏𝒈𝑹𝑻, (𝒓𝒆𝒂𝒓𝒓𝒂𝒏𝒈𝒊𝒏𝒈 𝒕𝒉𝒆 𝒂𝒃𝒐𝒗𝒆 𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏)

∆𝑼 = 𝟒𝟏 𝒌𝑱 𝒎𝒐𝒍−𝟏 − (𝟏)(𝟖. 𝟑𝟏𝟒 𝑱 𝒎𝒐𝒍−𝟏𝑲−𝟏)(𝟑𝟕𝟑 𝑲)

∆𝑼 = 𝟒𝟏 𝒌𝑱 𝒎𝒐𝒍−𝟏 − 𝟑. 𝟏 𝒌 𝑱 𝒎𝒐𝒍−𝟏

∆𝑼 = 𝟑𝟕. 𝟗 𝒌 𝑱 𝒎𝒐𝒍−𝟏



(b) Here the water is converted to ice (solid), so this means ∆V ≈ 0

∆𝑼 = ∆𝑯, 𝒂𝒏𝒅 𝒕𝒉𝒊𝒔 𝒎𝒆𝒂𝒏𝒔 ∆𝑼 = 𝟒𝟏 𝒌 𝑱 𝒎𝒐𝒍−𝟏

:الملاحظات

نالحراريالمحتوىأونالداخليةللطاقةالمستخدمةالوحدة.1 kJ)ه  mol-1)وليس(J mol-1).

2.(+ ∆H)∆U نللنظام>  
 
نوالسببالغازيةالحالةف  

 
تحويلونوهتمددنشغللإنجازنصرفقدنالنظامقبلمنالممتصةالحرارةمنجزءأنهونذلكف

نتصورويمكن.الغازيةالالسائلةالحالةمنالماء
 
نقيمأن نبالعكستكونالتغي   

 
نأبسببالنظاممنالحرارةوانبعاثالتقلصشغلحالةف

 
̶ )ن ∆H).

∆𝒏𝒔𝑹𝑻 ≈ 𝟎 𝒂𝒏𝒅 𝒑∆𝑽𝒔 ≈ 0

The reaction is 𝑯𝟐𝑶(𝒍) 𝑯𝟐𝑶(𝒔)



Enthalpy change and heat transfer

U∆)للنظامالداخليةالطاقةعنالتعويضثم(2-27)للمعادلةبالرجوع = q - w)

∆𝑯 = 𝒒 − 𝒘 + 𝒑∆𝑽 (2-31)

نوتحتفقطتمددنشغلهونهنانالحاصلالشغلأنأعـتبارنونيعادلهانبمانwعنوبالتعويض نثابتضغط 
 
حراريالالمحتوىلتعريفوفقا

(Enthalpy)كالآتيتصبح(2-23)المعادلةو.(2-31)المعادلةعلىنحصل

∆𝑯 = 𝒒𝒑 − 𝒑∆𝑽 + 𝒑∆𝑽 (2-32)

ننستنتجأعلاهالمعادلةمن
 
نأن نالتغي   

 
نتحتحرارةشكلعلىالمنتقلةالطاقةعلىيعتمدنالحراريالمحتوىف علىيعتمدنولنثابتضغط 

.العمليةخلالالمنجزنالتمددنشغل

𝒒𝒑 = 𝑪𝒑 ∆𝑻 (2-33)

qpن نثابت،نعليهنعندناستخدامنالمعادلتي   نتتنقل( 2-33)ون( 2-23)تمثلنالحرارةنالمتحررةنأونالممتصةنتحتنضغط   
يجبنالإنتباهنإلنالعمليةنالت 

نثابت نثابتنأمنتحتنضغط  !خلالهانالطاقةنعلىنشكلنحرارةنفيمانلونكانتنتحتنحجم 



Example: Water is heated to boiling under a pressure of 1.0 atm. When an electric current of 0.50 A from a 12 V supply is

passed for 300 s through a resistance in thermal contact with the water, it is found that 0.798 g of water is

vaporized. Calculate the enthalpy change.

Solution: I = 0.50 A, ∆ϕ = 12 V, t = 300 s, p = 1 atm (constant pressure) and wt of water H2O = 0.798 g,(Vaporized

means that the water is transferred from liquid to gas, and it can be represented the gas of water is ideal)

𝒒 = 𝑰𝒕∆𝛟 (2-24)

∆𝑯 = 𝒒𝒑 = 𝑰𝒕∆𝛟 = (𝟎. 𝟓𝟎 𝑨) 𝒙 (𝟑𝟎𝟎 𝒔) 𝒙 (𝟏𝟐 𝑽)

∆𝑯 = 𝒒𝒑 = 𝟏𝟖𝟎𝟎 𝑨 𝑽𝒔 = 𝟏𝟖𝟎𝟎 𝑱 = 𝟏. 𝟖 𝒌𝑱

Because 0.798 g of water is )0.798 g(/)18.02 g mol-1( = 0.0443 mol, where 1 A V s = 1 J. Because 0.798 g of water, the

enthalpy of vaporization per mole of H2O is

∆𝑯𝒎 =
𝟏. 𝟖 𝒌 𝑱

𝟎. 𝟎𝟒𝟒𝒎𝒐𝒍
= + 𝟒𝟏 𝒌𝑱 𝒎𝒐𝒍−𝟏



نقياسيتمكيفهنانوالسؤال نتحتالحراريالمسعرنطريقةباستخدامالحراريبالمحتوىالتغي  .ثابتضغط 

نالموضحالمسعرنباستخدامذلكيتمالجواب  
 
نمعزوللوعاءبسيطمثالهونالمسعرنوهذان،(2-7)الشكلف

 
العتياديالجويللضغطمعرضونحراريا

(1 atm)نتحتأي .ثابتضغط 

Figure 2-7: A constant-pressure flame calorimeter (Isobaric calorimeter)

نقياسخلالمنوذلكحرارةشكلعلىالطاقةانتقالمراقبةيتم نالتغي   
 
.الحراريمحتواهانمعرفةالمرادنللموادن(T∆)الحرارةدرجةف



Example: How much enthalpy is produced for the 4 moles of an ideal gas absorbs 12 kJ energy under atmospheric

pressure of (1.0 atm)?

Solution: q = 12 kJ, n = 4 mol and p = 1 atm (atmospheric pressure).

∆𝑯 = 𝒒𝒑 (2-32)

نكفتكونالمولتنمنلعددنأمانواحدةولمولالحراريالمحتوىقيمةعلىللحصولأعلاهالمعادلةنستخدم  
:الآت 

𝒏 ∆𝑯 = 𝒒𝒑

𝟒𝒎𝒐𝒍 ∆𝑯 = 𝟏𝟐 𝒌𝑱

∆𝑯 =
𝟏𝟐 𝒌𝑱

𝟒𝒎𝒐𝒍
= + 𝟑 𝒌𝑱𝒎𝒐𝒍−𝟏



Homework

Homework 1: If 10.0 g of methane combust completely, how much energy is released?

The reaction is 𝐂𝐇𝟒(𝐠) + 𝟐𝑶𝟐(𝐠) 𝐂𝐎𝟐(𝐠) + 𝟐𝐇𝟐𝐎(𝐠) ∆𝐇 = ̶ 𝟖𝟗𝟎. 𝟑 𝐤𝐉

Homework 2: 4.82 g of unknown metal is heated to 115.0 oC and then placed in 35 mL of water at 28.7 oC which

then heats up to 34.5 oC. What is the specific heat capacity of the metal?

• All homework should be sent to google classroom:

• https://classroom.google.com/c/NjI2NDA3NzkzMDRa

https://classroom.google.com/c/NjI2NDA3NzkzMDRa

